955-1P8

4' Round Single Pedestal Direct Bury

P

00

o o
oo oo
oo o o0
00000000
0000000
000Q9OO0O0

000Q000
oOoOpPOOO
0000000
000000
006006
0000000

0000000
0000000
0000000

0000009
0006006
00000
[l e} oo
0090000

000000
0000000
0000000
00000000
0000000
0000000
00000
000

000
00000
0000000
0000000

00000000
0000000

<t
0000000
O 00000000000Q0QO0OO
00 ©00Q00O00090000 00O
00 000Q000000Q00000 0©OOOOO
00 00000000000 0O0OO ©OOOOOO —
00 ©O00QOOLOOOREEeEeEe 0OOOOO
00 0000000000 0000 0O [ele]
00 ©0o 000 000000
o 000000
000

0000000000
0000000000000000
00000000000Q00000O0O

0000000000000 0000O0O00O0OO

00000000000000Q000O0O0O0O0O0OO0OO
00000000000000Q000O0O0O0O0O0OO0OO
00 000000000000 0Q00000O0O0O0O0O0O OO

0000
0000
00000
000000
000000
000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
0000000
000000
000000
Q00000
00000
0000
0000

000000000000Q0000O00O0OO0
00Q00Q0Q00Q0000QR00QQ0O0Q0Q0OC
9@00000000000000000O0CESE
0000000000 ®QGO000000O0O0
0000000000 ®QGO000000O0O0
0000000000 ®QGO000000O0O0
00000000@0OP@O000O00O0O0
0000000000 Q®O0O0O00O00O0OO0
0000000000 DOOOOOOO0OO
0000O0O0OOS®O0 0®e000000O0
000O0O0O0OO®O0 060000000
000000000 DOLOOO0O0O0LC
0000000000 Q®O0O0O00O00O0OO0
0000000090 0PO®0000000O0
0000000000 ®QGO000000O0O0
0000000000 ®QGO000000O0O0
0000000000 ®QGO000000O0O0
@00000000000000000O0CS®
00000000000 0Q000 000
000000000000Q000O0 o0

[eRe oo}
00000
00000
000000
000OO0OO0OO0
000OO0OO0OO0
0000000
000OOOOO
000OOOOO
0000000
000OOOOO
000OOOOO
0000000
000OOOOO
000OOOOO
0000000,
000OO0OO0OO0
000OO0OO0OO0
000000,
00000
0000
[eReNee)

OO0 0000000000000 0000000DYL OO
00000000000000Q00000000O0
0000000000000 Q000000O0O0O0OO

0000000000000 00000000O0

Q0000000000000 0000O0
Q000000000000000
0000000000

o000 o000
000000 000
0000000 O0OO 0@ O00OOOOO
O0OO0OO0O0OO0OO0 OOOODOOOOOGMOOO OOOOOOOO
O0OO0OO0O0O0O0O0 ©OOOOO0OO60O0O60O60666 00000000
O0OO0OO0O0OO0O OOOOOOOOOOOOO0O0 OOOOOOO

O0O0O0O0 OOOOMOOOOOGOMOOO OOOOOO

OO0 OOOOMGOOOO0OODO0O®6 O0OOOO
00000000000 000 O

coo
coocoo0o0
coococo00Cc00
0000000
[eNeReNeXe)

00000 0000O@OOOCOO@®OOO OOCOO
000 00000GO0QCQCO0CO0O0CE® 0000
0000000000000 0 O
0000000

coo
coocoo0o0

0000000 ©OO
000000 0000000 000QC0O000CO0 O©OOOB®LOOC

0000000 000COQ@ECOCOCOO@OCOO
0000000 ©ececeecececececeeco o

ITEM NO.

> Ol < OOl o
SN E RN N
O]
(@)
—I
o
S0
gX |_|=
— =10|=|=
+[o/8 %BOOHHMM
o X|5 |22 Z\z
o I — X XXhh
Z T o O 0| O 0| VX | v
() — Ne) O O|olo
o=l N AR SRR 00
_HmpnwedPCHSSWWWD
o 210 H= | O-'|-°|O|0O Z
x| Qx5 O ol = lay 2| 2L
OIBls IR al5| e8| TIQIR|E =0l
| OO GO El: ' |l—|—=|«x|«x|c |
EPeETan_/Sn/___SS._“_._”_
Ol Q5|0 < x| R = || oo E
O|& O|= ImeumO//n/_B
SIS KON R S R )
i) S sp) (30}
o [0 ™
<€
O
c
@)
lA-
o
L
D — I« | |— || o | <t on [0 [IN|on|o~ [0
oo n|oounnBNN= N
21577 T IEEITIQURRRRRRR
Z | NN [N N N[N0 |0 [~ 0[|~0 |00~ [N
— MMM NN = —|—|—|—|—|— |—
H2 130 R0 <0 [0 o [0 | |1 |1 b || b1 (v
<
a
—|N|m (s o fo|N[o|on || D@ T

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




@ 4' Round Single Pedestal Direct Bury 955-1P8

+ R

10" bE—=—1]
| ] ]
. . I _E | “E | II\\
20" '

olo
‘\@ @ GROUND LEVEL
# f

AOVATEOAT AT O CANGING

AN AN VATVATVAOT VATV Y
L 2”

70N concrere

AN

Tools List

. 7/16" Drill bit
. 1/2" Drill bit

. 9/16" Socket
. 9/16" Wrench
. 3/4" Wrench

: Leve .
e  Imapct Gun (Optional) 1 @2
. Drill e 10" .

1. Bore a 12-14" diameter hole intfo the ground. The hole should be at least 32" deep or below

the frost line in your area, which ever is greater.

2. Place 4-6" of pearockin hole.

3. Place center pedestal post into the hole.

4, Drill out all holes with a 7/16" drill bit. Use a 9/16" drill bit for seat arm end plate holes and
center pedestal post holes at their union.

S. Bolt the support arms on to the center pedestal post using 1/2"x7" stainless steel hex bolts.

6. Bolt seat supports on to the seat arms using 3/8"x2" stainless steel hex bolts.

7. Bolt table top support on to the center pedestal post using 3/8"x2 1/2" stainless steel hex bolts.

8. Bolt the table top on to the table top support using 3/8"x1-1/2" stainless steel hex bolts.

9. Bolt the seats on to the seat supports using 3/8"x1-1/2" stainless steel hex bolts.

10. Level table and adjust to desired height. Recommended height is 20" from the ground to the

top of the seats.
11.  Fill hole with concrete no higher than ground level.

In accordance to California law: WARNING- This product contains a chemical known to the State of
California to cause cancer and birth defects or other reproductive harm.

i} PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2




